gthos5voITNTH5T

2020/03/11 17:43

OURA:

TIFTTNIRE REFRE<EFINADER>

FEERR:

204E3H8 118 (k)

fffHAO—X: OUT I N

IBRLRTE A% : T ORIE

BHAE: BENAUTA BEIERL: 1395 h—F SMAK
HDCP_ERR: 551%:36 & 1£:36 =7:36 B % oA
i 5 18 A
D7 oA
it 18 A
B4z SNEZ e OUT IN GROSS HDCP NET 5%
B T8 BF IJAILI1> 37 39 76 0.0 76.0
2 TIEF IoA)LdqY 40 42 82 0.0 82.0
3 RJIART EDiH 43 41 84 0.0 84.0
4 %A BtF pasbE: 42 45 87 0.0 87.0
5 HFF W IJAILI1> 48 = 42 90 0.0 90.0
6 B ERXF OV 45 45 90 0.0 90.0
7 Rk EH#d YT A 48 43 91 0.0 91.0
8 MMAEF i 43 48 91 0.0 91.0
9 | AEF A ET 47 45 92 0.0 92.0
10 {&hE 0T AMET 47 46 93 0.0 93.0
11 EpE HEF EDiH 46 48 94 0.0 94.0
12 @A Z&H #51 45 50 95 0.0 95.0
13 R HEF YT A 50 51 101 0.0 101.0
14 WH #F IJAIL o1 60 47 107 0.0 107.0
15 ®YR EX=ZEF g5t 52 57 109 0.0 109.0
16 AH HEE EDH 54 56 110 0.0 110.0
17 BAR HE{E TIiA)Ldq 52 58 110 0.0 110.0
18 AR EHBE EDH 59 59 118 0.0 118.0

1/1R—=2




